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TOEFL Quiz Four: 401-500
Part One: Choose which answer is most similar in meaning to the word in bold.

1.  threat   A. group    B. menace    C. business  D. geography

2.  token A. matter B. weight   C. symbol D. proclamation

3.  thrive A. support  B. flourish   C. catch D. create

4.  undulating   A. defining  B. curving   C. researching D. identifying

5.  tier    A. power   B. point    C. rank   D. balance

6.  ton    A. land  B. weight    C. health D. capability

7.  trend   A. movement    B. joint C. cognition   D. troop   

8. tip    A. shift   B. battle   C. enter D. appear

9.  torture A. totality     B. punishment C. comment D. attempt

10. tout   A. cause   B. radiate  C. praise D. serve

11.  toxin A. poison B. tract   C. rain D. exertion

12.  transform A. revolutionize B. promise   C. war   D.  metamorphose

13.  tolerance    A. acceptance   B. feature   C. avoidance   D. grade

14.  toll   A. area   B. extension  C. cost  D. feed

15.  trait    A. distress  B. attribute   C. experience D. emotion

Part Two: Choose which answer is opposite in meaning to the word in bold.

16.  trap A. affect  B. free C. impact   D. vomit

17.  ultracold    A. quick B. freezing   C. scorching   D. thick    

18.  vibrant A. vivacious  B. sociable   C. dormant   D. lucrative

19.  ubiquitous       A. ever-present  B. harmful   C. visible  D. uncommon

20.  tremendous    A. incredible B. uneventful   C. forceful D. combative   

21.  triumph    A. fail   B. defeat   C. conquer    D. stand with

22.  unanimous    A. agreement   B. substitution   C. wavelength   D. disaccord

23.  unruly  A. manageable    B. uncontrollable C. enforceable D. farming

24.  unveil A. announce   B. discuss C. veil  D. celebrate
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25. turmoil  A. agitation   B. order  C. commotion D. disruption

26.   unsustainable A. incapable B. frozen   C. enforced    D. supportive

27.  wipe out   A. annihilate B. build up      C. decimate   D. destroy

28.  undertake   A. undergo   B. commence   C. set out    D. terminate

29.  unprecedented  A. incomparable B. unparalleled   C. equivalent    D. anniversarial         

30.  unflattering    A. pleasing    B. annoying C. embarrassing  D. distinctive

Part Three:  Complete each sentence below with the most suitable word from the four answer choices.

31.  The students had been missing since Saturday, when they                       into the woods after visiting the telescope.
 A. transplanted B. trekked  C. triggered   D. undercut

32.  Specialists generally believe that people with Multiple Personality Disorder may experience any of the following: 
depression, mood swings, suicidal tendencies, sleep disorders, headaches, amnesia, time loss,                       , and 'out of 
body experiences.
 A. trances    B. treadmills C. treaties       D. tractions

33.  Laws  forbidding homosexual  sex,  once  universal,  now are  rare.  Those  on  the  books  are  rarely enforced but 
_____________other kinds of discrimination, lawyers for two Texas men had argued to the court.
 A. underclassmen   B. unidimensional   C. underpin  D. unfolded

34.  Forestry officials used drip                       to start the fire, avoiding large logs on the ground that were home to small 
animals.

A. topography   B. titters  C. torches   D. tissues 

35.   Some  air  pollutants  have  reduced  the  capacity  of  the  atmosphere  to  filter  out  the  sun's  harmful 
______________radiation. 

A. ultrafast     B. underbrush  C. ultraviolet    D. twilight

36.  Having                       progeny, Abraham Lincoln was born of humble beginnings
 A. underlying  B. undistinguished   C. unidimensional   D. unfolded

37.  Accentuating the positive                       a worker, which can increase the productivity of a workforce.
 A. uplifts     B. upholsters   C. uprights   D. uprises

38.  The San Antonio Spurs                       the Los Angeles Lakers in the playoffs.
 A. trounced  B. triggered    C. trough  D. tribe

39.                        are unlike wind-generated waves, which many of us may have observed on a local lake or at a 
coastal beach, in that they are characterized as shallow-water waves, with long periods and wave lengths. 
 A. twilights    B. underbrushes  C. troughs  D. tsunamis

40.  Due to the massive wind-driven waves, the ship was                       , hence causing all on board 

the ship to drown.

A. upturned   B. upheld   C. utilized   D. vaporized
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41.  Locusts prefer warm, damp,                       places in which they settle, feed, and reproduce. 

A. veiled   B. venerable   C. vast  D. verdant

42. In  a  pungent diary,  vivid letters,  learned tracts,  and patriotic speeches he revealed himself  as a quintessential 
Puritan,  patriarch  of  an  illustrious  family,  tough-minded  philosopher  of  the  republic,  sage,  and  sometimes  a  (n) 
____________, stubborn, and vitriolic partisan.

 A. vagued   B. vaporized    C. vain D. urban

43.  Because of the intense cold and snow, Minnesota long distance runners often use                       during the winter. 
 A. treadmills   B. traumas   C. transplants  D. tribes   

44.  Some patients suffering from chronic pain                      hypnosis, a highly concentrated but relaxed awareness, in 
which the perception of pain is altered.   

    A. underlie   B. uniform  C. undergo D. upgrade

45. Many                      flow into the Mississippi River, making it one of the longest rivers in the world.

  A. triggers B. tribes   C. tributaries  D. troughs 

46. Since the 1970s, therapists who believe in the reality of Multiple Personality Disorder generally believe it to be 
caused by very severe abuse during childhood violence so extreme that the child cannot absorb the                      in its 
entirety. 

  A. trauma   B. treaty   C. underclassmen   D. unidimensional

47. Treating these states of matter differently in the simulation could explain another peculiar aspect of the moon's 
composition: its dearth of easily                      "volatile" compounds such as water. 

  A. vary   B. vacuum  C. vaporized   D. veil

48.  Rhipidistian fishes eventually gave rise to all land                      .

  A. verity  B. vertebrates  C. viewpoints  D. venoms 

49.  As a body is crushed into a smaller and smaller volume, the gravitational attraction increases, and hence the escape 
____________gets bigger.

A. venture   B. valve   C. velocity  D. vagueness

50.   The rule would amend the Fair Labor Standards Act of 1938, which was the first law preventing employers from 
___________60-hour work weeks from their rank-and-file without compensation. 

 A. yielding B. wrecking C. zoning   D. wringing
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Part Four:  Complete each sentence using the correct word form.

51. A  cross  between  fast-food  and  restaurant  dining,  the  family  restaurant,  characterized  by  its  soft  lights, 
_____________booths, and food prepared to order,  is  the fastest growing phenomenon in the food service industry 
today.  

A. upholstered  B. upholsteries    C. upholster  D. upholstering

52. America's Bicentennial gift from the people of West Germany, the Einstein Planetarium has been                      to 
include a first-of-its-kind, Sky Vision™™ dual digital projection system and six-channel digital surround sound. 

A. upgrades   B. upgraded   C. upgrading   D. upgrade

53. Some businesspersons                      in real estate and the stock market as possible ways of getting a lucrative return 
on their investments.

 A. venture   B. ventures   C. venturing  D.  had venture  

54.  The                      of a pig heart into a human body revolutionized modern surgical medicine.

A. transplants   B. transplanted   C. transplantation   D. transplant   

55. Bulimia  nervosa,  on  the  other  hand,  is  when  a  person  consumes  large  amounts  of  food,  but  then  induces 
__________or diarrhea in an attempt to avoid weight gain. 

 A. vomit    B. vomits   C. vomiting   D. vomited

56.  The introduction of machinery to farming vastly improved crop                      . 

 A. yield   B. yields   C. yielding     D. yielded

57.   Unstable areas may sometimes be identified by trees or telephone poles                      at odd angles, or by curved 
tree trunks.

  A. tilt     B. tilting   C. tilts      D. tilted       

58.  To best                      a writing center tutor, a student should take a copy of the writing assignment and have a rough 
draft ready for review. 

 A. utilize    B. utilizing    C. utilization  D. utilized 

59. At the time, the American Civil Liberties Union and the National Organization for Women opposed a guardian for 
the fetus, calling such a proposed move a                      attempt by the governor to eliminate the possibility of an abortion. 

A. veiled B. veiling   C. veils   D. veil

60. One man died in the                      of a flattened workshop and seven other people were injured in Deshler, about 75 
miles southwest of Lincoln near the Kansas line

 A. wreck   B. wrecked   C. wrecking   D. wreckage
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